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Contenido 
 

 

 

 



3 
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• 

• 

• 

• 
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𝑋 = [(𝛥𝑊∗ − 𝛥𝑊) + (𝛥𝑃𝑇𝐹 − 𝛥𝑃𝑇𝐹∗)] 

𝛥𝑊∗

𝛥𝑊

𝛥𝑃𝑇𝐹

𝛥𝑃𝑇𝐹∗



6 
 

𝑄𝐹 = (𝑄𝑃 . 𝑄𝐿)(1
2⁄ ) 𝑄𝐹

∗ = (𝑄𝑃
∗ . 𝑄𝐿

∗)(1
2⁄ )

𝑄𝑃 =
∑ 𝑝𝑖

𝑡+1𝑦𝑖
𝑡+1𝑀

𝑖=1

∑ 𝑝𝑗
𝑡+1𝑦𝑗

𝑡𝑀
𝑗=1

𝑄𝑃
∗  =

∑ 𝑤𝑖
𝑡+1𝑥𝑖

𝑡+1𝑀
𝑖=1

∑ 𝑤𝑗
𝑡+1𝑥𝑗

𝑡𝑀
𝑗=1

𝑄𝐿 =
∑ 𝑝𝑖

𝑡𝑦𝑖
𝑡+1𝑀

𝑖=1

∑ 𝑝𝑗
𝑡𝑦𝑗

𝑡𝑀
𝑗=1

𝑄𝐿
∗  =

∑ 𝑤𝑖
𝑡𝑥𝑖

𝑡+1𝑀
𝑖=1

∑ 𝑤𝑗
𝑡𝑥𝑗

𝑡𝑀
𝑗=1

𝑃𝑇𝐹 = 𝑃𝑟𝑜𝑑𝑢𝑐𝑡𝑖𝑣𝑖𝑑𝑎𝑑 𝑡𝑜𝑡𝑎𝑙 𝑑𝑒 𝑙𝑜𝑠 𝐹𝑎𝑐𝑡𝑜𝑟𝑒𝑠 =
𝑄𝐹(𝑝𝑡 , 𝑝𝑡+1, 𝑦𝑡 , 𝑦𝑡+1)

𝑄𝐹
∗ (𝑤𝑡, 𝑤𝑡+1, 𝑥𝑡 , 𝑥𝑡+1)

 

 

 

𝑤𝑡

𝑤𝑡+1

𝑝𝑡

𝑝𝑡+1

𝑥𝑡

𝑥𝑡+1

𝑦𝑡

𝑦𝑡+1
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• 

• 

• 
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• 

• 

• 

• 
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• 

• 

• 

• 

• 

• 



10 
 

• 

• 

• 

• 

• 

• 
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• 

• 
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13 
 

• 

 

• 
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• 

 



15 
 

𝑊𝑖,𝑡 =
𝐺𝑖,𝑡

𝐿𝑖,𝑡

𝑊𝑖,𝑡

𝐺𝑖,𝑡

𝐿𝑖,𝑡

 

                                                           



16 
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• 
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19 
 



20 
 

𝐺𝑟𝑒𝑎𝑙,𝑡 =
𝐺𝑐𝑜𝑟𝑟𝑖𝑒𝑛𝑡𝑒,𝑡

𝐼𝑃𝐶𝑎𝑗𝑢𝑠𝑡𝑎𝑑𝑜,𝑡

𝐺𝑟𝑒𝑎𝑙,𝑡

𝐺𝑐𝑜𝑟𝑟𝑖𝑒𝑛𝑡𝑒,𝑡

𝐼𝑃𝐶𝑎𝑗𝑢𝑠𝑡𝑎𝑑𝑜,𝑡

 



21 
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23 
 

• 

                                                           

https://www.mef.gob.pe/contenidos/conta_publ/con_nor_co/vigentes/ciniif/RedBV2018_IFRIC12_GVT.pdf
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𝑡

𝑡 𝑡

𝑡

𝑡



25 
 

𝐾𝑖,𝑡 = 𝐾𝑖,𝑡−1 + 𝐼𝑖.𝑡 − 𝐷𝑖,𝑡

 

𝐾𝑖,𝑡

𝐼𝑖,𝑡

𝐷𝑖,𝑡

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 
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• 
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• 

• 

• 
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29 
 



30 
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32 
 

• 

• 

 



33 
 

𝐾𝑖,𝑇𝑜𝑡𝑎𝑙_𝑡 = 𝐾𝑖,𝑡 + 𝐾𝑖,𝐼𝑛𝑖𝑐𝑖𝑎𝑙_𝑡

𝐾𝑖,𝑇𝑜𝑡𝑎𝑙_𝑡

𝐾𝑖,𝑡

𝐼𝐾𝑖,𝐼𝑛𝑖𝑐𝑖𝑎𝑙_𝑡
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40 
 



41 
 



42 
 

�̅�𝑖,𝑇𝑜𝑡𝑎𝑙_𝑅𝑒𝑎𝑙_𝑡 =
𝐾𝑖,𝑇𝑜𝑡𝑎𝑙_𝑅𝑒𝑎𝑙_𝑡 + 𝐾𝑖,𝑇𝑜𝑡𝑎𝑙_𝑅𝑒𝑎𝑙_𝑡−1

2

𝐾𝑖,𝑇𝑜𝑡𝑎𝑙_𝑅𝑒𝑎𝑙_𝑡

𝐾𝑖,𝑇𝑜𝑡𝑎𝑙_𝑅𝑒𝑎𝑙_𝑡

𝐾𝑖,𝑇𝑜𝑡𝑎𝑙_𝑅𝑒𝑎𝑙_𝑡−1
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44 
 



45 
 



46 
 

𝑞𝑖,𝑡 =
𝑟𝑡 . 𝑃𝑖,𝑡−1 + 𝛿𝑖 . 𝑃𝑖,𝑡 − (𝑃𝑖,𝑡 − 𝑃𝑖,𝑡−1)

1 − 𝑢𝑡

𝑞𝑖,𝑡

𝑟𝑡

𝑃𝑖,𝑡

𝛿𝑖

𝑢𝑡

𝑟𝑡
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• 
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• 

• 
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59 
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61 
 

 

 

 

 

 

 

 

 



62 
 

𝛥𝑊∗ = 𝛥𝑃∗ + 𝛥𝑃𝑇𝐹∗ 

𝛥𝑊∗

𝛥𝑃∗

𝛥𝑃𝑇𝐹∗
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64 
 

   

 
  

 
  

 
 

 

   



65 
 

𝑊𝐴𝐶𝐶 =
𝐷

𝐷 + 𝐸
 𝑟𝑑  (1 − 𝑡) +

𝐸

𝐷 + 𝐸
[𝑟𝑓 + 𝛽(𝑟𝑚 − 𝑟𝑓) + 𝑟𝑝𝑎í𝑠)

𝐷

𝐷+𝐸
𝐸

𝐷+𝐸

𝑟𝑑  

𝑡

𝑟𝑓

𝛽

𝑟𝑚

𝑟𝑝𝑎í𝑠

𝛽

𝛽

𝛽 = 𝛽𝑛𝑎 [1 + (1 − 𝑡). (
𝐷

𝐸
)]

𝛽

𝛽𝑛𝑎
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𝑡

𝛽

𝐸(𝑟𝑖) = 𝑟𝑓 +  𝛽𝑖𝑚[𝐸(𝑟𝑚) − 𝑟𝑓]

 

𝛽𝑖𝑚 =
𝐶𝑜𝑣[𝑟𝑖, 𝑟𝑚]

𝑉𝑎𝑟(𝑟𝑚)
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. 
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• 
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 𝛽

• 

• 

• 

                                                           



71 
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• 

• 

• 

• 

• 
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• 

• 

• 

• 
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𝑅𝑥 = 𝛼 + 𝛽𝑎𝑝𝑎𝑙𝑎𝑛𝑐𝑎𝑑𝑜. 𝑅𝑚 + 𝜇𝑡

𝑅𝑥

𝑅𝑚

 

                                                           
𝐴𝑑𝑗 𝐵𝑒𝑡𝑎 =

0.67(𝑅𝑎𝑤 𝐵𝑒𝑡𝑎) + 0.33
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